040921CNE1763 Exhibit 15 9 pages

WISDOM
INDUSTRIES, Ltd.

SAFETY BULLETIN

M—T

DATE: OCTOBER 18, 2004

RIDE: SIZZLER AND DELUXE SIZZLER ONLY

SUBJECT: SIZZLER SEAT FRAME AND FOOT TUB
ATTACHMENT INSPECTION

TIME: IMMEDIATE

FREQUENCY:ANNUAL

% WARNING: FAILURE TO PERFORM THIS
INSPECTION CAN RESULT IN SERIOUS INJURY TO

YOUR PASSENGERS.
= KEY INSPECTION POINTS OF THIS BULLETIN

1. Inspect, grade & torque of the 4 internal frame bolts.

2. Inspect foottub hinge bolts for proper grade and all metal locknut
installed.

3. Inspect internal frame welds.

& INSPECTION PROCEDURE TO BE FOLLOWED IS ON
ATTACHED PAGES AND DRAWING.

& NOTE: If replacement bolts are needed contact Wisdom
Industries for replacement. If the bolts are purchased locally
verify grade 5 bolts by the head marking (See drawing). Many
hardware stores only sell grade 2 or 3 bolts. These bolts are
unacceptable and dangerous.

THE INSPECTION OF THE SIZZLER RIGHT SIDE (SEAT LOCK
SIDE) SEAT INTERNAL FRAME MOUNTING BOLTS.

1. Remove the two Y4 inch bolts holding the seat lock brass to the side of
the car.

2. Slide out the side quarter panel.

3. Inspect the two internal frame mounting bolts for proper Grade 3.




4. Replace if they are loose or broken and use Red Loctite.

5. Inspect bolts for proper 7/16 inch diameter. Check proper head size
using a 5/8 inch socket.

6. Check that torque of 7/16 inch bolt is 60 foot pounds .

» NOTE: IF BOLT IS LOOSE REMOVE THE BOLT CLEAN
THREADS WITH WIRE BRUSH AND APPLY RED
LOCKTITE. TORQUE BOLT TO 60 FOOT POUNDS.

7. Verify that the foottub hinge nut is a 5/8 inch all metal lock nut.

o Warning NEVER reuse locknuts
o Only use all metal locknuts on the hinge bolts.
o Inspect hinge pipe welds for cracks.

FOR INSPECTION OF THE LEFT SIDE (SPINDLE SIDE)
SEAT IRON BOLTS.

o IF THE INSPECTION HOLE IS NOT INSTALLED

1. Remove seat liner to perform annual inspection.

2. Cut 2 hole in the left side of the car body using a hole saw. Review the
enclosed drawing for the location of the hole. Use a 5 inch diameter
hole saw.

3. Inspect the two internal frame mounting bolts for proper Grade 5.

4. Replace if they are loose or broken and use Red Loctite.

5. Inspect bolts for proper 7/16 inch diameter. Proper head size of a 7/16
inch bolt uses a 5/8 inch socket.

6. Check that torque of 7/16 inch bolt is 60 foot pounds.

% NOTE: IF BOLT IS LOOSE REMOVE THE BOLT CLEAN
THREADS WITH WIRE BRUSH AND APPLY RED
LOCKTITE. TORQUE TO 60 FOOT POUNDS.

6. Verify that the foottub hinge nut is a 5/8 inch all metal lock nut.

o Warning NEVER reuse locknuts
o Only use all metal locknuts on the hinge bolts.
o Inspect hinge pipe welds for cracks.

REASSEMBLY

Reassemble fiberglass quarter panel and seat lock brass
Perform lapbar inspection procedure on following page.




SIZZLER '
LAP BAR & SEAT LOCK INSPECTION PROCEDURE

Raise lap bar and latch.

Check lap bar hinge bolts and pipe for wear or looseness.

Check lap bar arm for cracks.

Check that seat lock brass is tight.

Open lap bar.

Push seat lock pin. It must snap back out and not drag or catch.
Close lap bar. Seat lock pin must snap into the notch in the brass.
3/8 inch minimum engagement of pin in brass.

%» NOTE: ELECTRIC SEAT UNLOCKING IS NOT

SNk L=

MANDATORY.
8.  Activate electric unlocking system.
NOTE: All seat locks should release.
9. Turn off electric unlocking system.

NOTE: The timer will shut off the solenoids after about 15 seconds.

10.  Go around seat to inside (spindle side) and pull on the lap bar
sideways and out to try to pop seat lock pin out of the brass.

11. If bar comes open, tie off that car until repairs are made. Replace any
components needed if the bar will come open.

12.  Repeat for each seat.

**WARNING**
Never install a bolt or knob to manually uniock the lapbar.
Passengers have been known to open the bar while the ride is running and
 come out of the seat.

**NQTE** .
Each seat lock pin is custom drilled for each car and lap bar. Make
sure the same pin goes back to the same bar on the same car.

INSPECT CLEARANCE OF FOOTTUB TO SWEEP AND TRAILER
GOOSENECK.

SEE ATTACHED BULLETIN.

Please notify Wisdom Industries following this inspection and notify us to

the status of the bolts on your ride. If you have any questions, please contact
Wisdom Industries at 800-634-6097.




3o _ EERFPIR

Ll alt

LWIS AT NOULIDVILIENGD

o T

vl

" 19 a3 dodae |-

s

SIIYLENONI
“HOAaSIM

i7L08 0D ‘oulen

TRIEA 38 LSO 1K)

SN0 L0 Sr OF 300N
PS5 3RS Jvas
LR G Ve R

R b v TN

...x/
AN
{ Y

.
N ~
' /
A—
SHEN L NI

SN
LEs

LITE € Hlean o,

B

Ferany




2P ey X R LMD H X M ow

L o i - s
PRI LN \\1 )
AT S L psmd
yasvin vty = T \H . .
T |
.,J_r i |
5108 JIMH HIOB NGO e | OIR “ N BRI DN JAIFE N d1FTYI3H D B 4 .
IIOIN M HIOT Twd \w\ \-1_ — SIS LO0OS AW O Q1100 2,8 Y04 AT ._m Hr |
- ] ‘
A —— - — - - - - S, 11
IVE v fi A
g
; , e
| Y i
{saas woay / ) f | o
I WO ST S N 1 SV I e \\ !
VIR - ~
- e e e 5 — }
.\.\*

VIS A SN ML MO
St 3kl NO JLMNDGT Ny
SIHSYNAIOT MM (SIOINVIS TINKNVHD —
NG UV M INETI0E § 3Tvan @ vir \,

OO AT TR Y

g . A

Wvetr

i Ty Tighs & 104 N\
_}/.ﬂi - '\Nl — T e

ARREOVED oY

FUIIS SAvW I Tty "

NG WE L134WS S04 SN IDNI D

80741

CO

Merino.

sl WISDOM
08 INDUSTRIES

o
a2
H
LY
Al
s &
v
)
E
b
[
Ly
[
2
<=
-
[y
&
Ly
o
Ay
z|
. Ley
- sed
< N
uil N
Vs
.
F4
tat

CERTRIP THON

ERAF




HHE L FE]

PV YIS

wiaHnii by ol

SNOH VIOT HI0H NOHDTASNG 1VHES

Led i dies 4 30

FEELILE 1) K- G- @G Vi

S A THYNG wre ot
A4 Ut A ARACHLLY SN

ipzog 00 ‘euport SYIYLSNANI G
HotSIm [l

NCHLVIIOT HILNGD DIV 0L
IVIES O HIANNOD HVH WOMA 1EAFT 3NN E
"HIUVHL 3AZT L OCAON

CEIMGHT ST IOH NOILDHASNE TS 11191 N

IVIS 0 J015 IHIIH

Cogvashund - fas\ e > FEoate - rdss Ve

S 14

\\.., L0 46D AdIME
e




A B

i
ol

i

302 Ilm.—._. T
A TERY N

L DMDEIG o Ve

|

HIINISOOD
RNV e Y
SO RN .

L
™ n/ .

Y

SINIMTOI S INIS 000

.

-

1352




